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APTITUDE 

 

 

1. A pizza is divided into 12 slices. If there are eight slices left, what fraction of the pizza is 

remaining? 

a) 3/4 

b) 2/3 

c) 1/3 

d) 2/4 

2. There are ten houses on the street. Three people live in each house. How many people live 

on the street? 

a) 20 

b) 10 

c) 30 

d) 13 

 

3. In a recipe, you have to add one cup of sugar for every four cups of flour. What is the ratio of 

sugar to flour? 

a) 4:1 

b) 2:4 

c) 1:2 

d) 1:4 

4. It takes Matt four hours to mow two lawns. How many lawns can he mow in ten hours? 

a) Two lawns 

b) Five lawns 

c) Ten lawns 

d) Six lawns 

 



 
 
 
 
 
 
 
 

5. 20 = 3x + 8; x = ? 

a) 3 

b) 2 

c) 4 

d) 5 

6. If y = 3x + 12 and y = 5, what is x? 

a) 7/3 

b) 3/7 

c) -7 

d) -7/3 

 

7. A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the 

train? 

 

A. 120 metres              B. 180 metres 

C. 324 metres             D. 150 metres 

 

8. A can do a work in 15 days and B in 20 days. If they work on it together for 4 days, then the 

fraction of the work that is left is : 

 

A.1/4                                             B. 1/10 

C.7/15                                           D. 8/15 

 

9. Alfred buys an old scooter for Rs. 4700 and spends Rs. 800 on its repairs. If he sells the scooter for 

Rs. 5800, his gain percent is: 
 

A.4.47 %                                       B. 5.5% 

C.10%                                           D. 12% 

 

10. The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, 

then the value of x is: 

 

A. 15                     B. 16 



C. 18                       D. 25 

 

 

 

 

 

11. The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the 

age of the youngest child? 

 

A. 4 years                          B.   8 years 

C. 10 years                         D. None of these 

  

 

12. In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run rate 

in the remaining 40 overs to reach the target of 282 runs? 

 

A. 6.25                                     B. 6.5 

C. 6.75                                     D. 7 

 

 

13. Find the greatest number that will divide 43, 91 and 183 so as to leave the same remainder in 

each case. 

 

A. 4                                     B. 7 

C. 9                                     D. 13 

 

14. Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds 

respectively. In 30 minutes, how many times do they toll together ? 

 

A. 4                                   B. 10 

C. 15                                   D. 16 

        ______ 

15. √1.5625 = ? 

 

A. 1.05                                  B. 1.25 

C. 1.45                                  D. 1.55 

 

16. 3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4 

pumps work to empty the tank in 1 day? 

 

A. 9                                  B. 10 

C. 11                                  D. 12 

 

 

 

 



 

 

 

 

 

 

 

17. Running at the same constant rate, 6 identical machines can produce a total of 270 bottles per 

minute. At this rate, how many bottles could 10 such machines produce in 4 minutes? 

 

A. 648                                        B. 1800 

C. 2700                                           D. 10800 

 

18. A milk vendor has 2 cans of milk. The first contains 25% water and the rest milk. The second 

contains 50% water. How much milk should he mix from each of the containers so as to get 12 

litres of milk such that the ratio of water to milk is 3 : 5? 

 

A. 4 litres, 8 litres                            B. 6 litres, 6 litres 

C. 5 litres, 7 litres                            D. 7 litres, 5 litres 

 

19. In what ratio must a grocer mix two varieties of pulses costing Rs. 15 and Rs. 20 per kg 

respectively so as to get a mixture worth Rs. 16.50 kg? 

 

A. 3 : 7                                             B. 5 : 7 

C. 7 : 3                                         D. 7 : 5 

 

20. In order to obtain an income of Rs. 650 from 10% stock at Rs. 96, one must make an 

investment of: 

 

A. Rs. 3100                                      B. Rs. 6240 

C. Rs. 6500                             D. Rs. 9600 

 

21. A man buys Rs. 20 shares paying 9% dividend. The man wants to have an interest of 12% on 

his money. The market value of each share is: 

 

A. Rs. 12                                         B. Rs. 15 

C. Rs. 18                                         D. Rs. 21 

 

22. A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour? 

 

A. 3.6                                               B. 7.2 

C. 8.4                                         D. 10 

 

 

 

 



 

 

 

 

 

 

23. If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more. The 

actual distance travelled by him is: 

 

A. 50 km                                      B. 56 km 

C. 70 km                           D. 80 km 

 

24. Mr. Thomas invested an amount of Rs. 13,900 divided in two different schemes A and B at 

the simple interest rate of 14% p.a. and 11% p.a. respectively. If the total amount of simple 

interest earned in 2 years be Rs. 3508, what was the amount invested in Scheme B? 

 

A. Rs. 6400                          B. Rs. 6500 

C. Rs. 7200                          D. Rs. 7500 

E. None of these 

  

25. Reena took a loan of Rs. 1200 with simple interest for as many years as the rate of interest. If 

she paid Rs. 432 as interest at the end of the loan period, what was the rate of interest? 

 

A. 3.6                                       B. 6 

C. 18                                       D. Cannot be determined 

E. None of these 

 

26. It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010? 

 

A. Sunday                           B. Saturday 

C. Friday                                       D. Wednesday 

 

27. What least number must be added to 1056, so that the sum is completely divisible by 23 ? 

 

A. 2                                       B. 3 

C. 18                                       D. 21 

E. None of these 

  

 

 

 

 

 

 

 

 



 

 

 

28. 1397 x 1397 = ? 

 

A.1951609 B. 1981709 

C.18362619 D. 2031719 

E.None of these 

 

29. How many of the following numbers are divisible by 132 ? 

264, 396, 462, 792, 968, 2178, 5184, 6336 

 

A.4 B. 5 

C.6 D. 7 

 

30. Which one of the following is not a prime number? 

 

A.31 B. 61 

C.71 D. 91 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

ENGLISH 

 
Read the each sentence to find out whether there is any grammatical error in it. The error, if any will be in 
one part of the sentence. The letter of that part is the answer. If there is no error, the answer is 'D'. (Ignore 
the errors of punctuation, if any). 
 

1. (solve as per the direction given above) 
 

A.We discussed about the problem so thoroughly 

B.on the eve of the examination 

C.that I found it very easy to work it out. 

D.No error. 

 

  

2. (solve as per the direction given above) 

 

A.An Indian ship 

B.laden with merchandise 

C.got drowned in the Pacific Ocean. 

D.No error. 

 

3. (solve as per the direction given above) 

 

A.I could not put up in a hotel 

B.because the boarding and lodging charges 

C.were exorbitant. 

D.No error. 

 

4. (solve as per the direction given above) 

 

A.The Indian radio 

B.which was previously controlled by the British rulers 

C.is free now from the narrow vested interests. 

D.No error. 

 

5. (solve as per the direction given above) 

 

A.If I had known  

B.this yesterday 

C.I will have helped him.  

D.No error. 

 

 

 
 



In questions below, each passage consist of six sentences. The first and sixth sentence are given in the 
begining. The middle four sentences in each have been removed and jumbled up. These are labelled as 
P, Q, R and S. Find out the proper order for the four sentences. 
 

6.S1:In the middle of one side of the square sits the Chairman of the committee, the most 

important person in the room. 

 

P :For a committee is not just a mere collection of individuals. 

Q :On him rests much of the responsibility for the success or failure of the committee. 

R :While this is happening we have an opportunity to get the 'feel' of this committe. 

S :As the meeting opens, he runs briskly through a number of formalities. 

 

S6:From the moment its members meet, it begins to have a sort nebulous life of its own. 

 

The Proper sequence should be: 

 

A.RSQP B. PQRS 

C.SQPR D. QSRP 

 

 

 

7. S1:A force of exists between everybody in the universe. 

 

P :Normally it is very small but when the one of the bodies is a planet, like earth, the force is 

considerable. 

Q :It has been investigated by many scientists including Galileo and Newton. 

R :Everything on or near the surface of the earth is attracted by the mass of earth. 

S :This gravitational force depends on the mass of the bodies involved. 

 

S6:The greater the mass, the greater is the earth's force of attraction on it. We can call this force 

of attraction gravity. 

 

The Proper sequence should be: 

 

A.PRQS B. PRSQ 

C.QSRP D. QSPR 

 

 

 

 

 

 

 

 

 

 

 



 

8. S1:Calcutta unlike other cities kepts its trams. 

 

P :As a result there horrendous congestion. 

Q :It was going to be the first in South Asia. 

R :They run down the centre of the road 

S :To ease in the city decided to build an underground railway line. 

 

S6:The foundation stone was laid in 1972. 

 

The Proper sequence should be: 

 

A.PRSQ B. PSQR 

C.SQRP D. RPSQ 

 

 

COMPREHENSION: 

 

But I did not want to shoot the elephant. I watched him beating his bunch of grass against his 

knees, with the preoccupied grandmotherly air that elephants have. It seemed to me that it would 

be murder to shoot him. I had never shot an elephant and never wanted to. (Somehow it always 

seems worse to kill large animal.) Besides, there was the beast's owner to be considered. But I 

had got to act quickly. I turned to some experienced-looking Burmans who had been there when 

we arrived, and asked them how the elephants had been behaving. They all said the same thing; 

he took no notice of you if you left him alone, but he might charge if you went too close to him. 

 

9. The phrase 'Preoccupied grandmotherly air' signifies 

 

A.being totally unconcerned 

B.pretending to be very busy 

C.a very superior attitude 

D.calm, dignified and affectionate disposition 

 

 

10.From the passage it appears that the author was 

 

A.an inexperienced hunter B. kind and considerate 

C.possessed with fear D. a worried man 

 

 

 

 

 

 

 

11. The author did not want to shoot the elephant because he 



 

A.was afraid of it 

B.did not have the experience of shooting big animals 

C.did not wish to kill animal which was not doing anybody any harm 

D.did not find the elephant to be ferocious 

 

 
In each question, an incomplete statement (Stem) followed by fillers is given. Pick out the best 
one which can complete incomplete stem correctly and meaningfully. 
 
12.Despite his best efforts to conceal his anger ...... 
 
A.we could detect that he was very happy 
B.he failed to give us an impression of his agony 
C.he succeeded in camouflaging his emotions 
D.he could succeed in doing it easily 
E.people came to know that he was annoyed 
 
13. Even if it rains I shall come means ...... 
 
A.if I come it will not rain 
B.if it rains I shall not come 
C.I will certainly come whether it rains or not 
D.whenever there is rain I shall come 
E.I am less likely to come if it rains 

 

14.His appearance is unsmiling but ...... 

 

A.his heart is full of compassion for others 

B.he looks very serious on most occasions 

C.people are afraid of him 

D.he is uncompromising on matters of task performance 

E.he is full of jealousy towards his colleagues 

 

15. She never visits any zoo because she is strong opponent of the idea of ...... 

 

A.setting the animals free into forest 

B.feeding the animals while others are watching 

C.watching the animals in their natural abode 

D.going out of the house on a holiday 

E.holding the animals in captivity for our joy 

 

 

 

 

 

 

 

16. I felt somewhat more relaxed ...... 



 

A.but tense as compared to earlier 

B.and tense as compared to earlier 

C.as there was already no tension at all 

D.and tension-free as compared to earlier 

E.because the worry had already captured by mind 

 

17.It is not easy to remain tranquil when those around you ...... 

 
A.behave in a socially acceptable manner 
B.exhibit pleasant mannerism 
C.are losing their heads 

D.agree to whatever you say 
E.exhibit generous and magnanimous gestures 
 

 
18. "The food in this hotel is no match to what were forced at late hours in Hotel Kohinoor " means 
...... 
 

A.The food in this hotel is quite good compared to what we ate at kohinoor 
B.Hotel kohinoor served us good quality food than what we get here 
C.Both hotels have maintained good quality of food 
D.Both hotels serve poor quality of food 
E.it is better to eat food than remain hungry 
 
 

19. Although initial investigations pointed towards him ...... 
 
A.the preceding events corroborated his involvement in the crime 
B.the additional information confirmed his guilt 
C.the subsequent events established that he was guilt 

D.the subsequent events proved that he was innocent 

E.he gave an open confession of his crime 
 
 
20. The weather outside was extremely pleasant and hence we decided to ...... 
 
A.utilise our time in watching the television 
B.refrain from going out for a morning walk 

C.enjoy a morning ride in the open 
D.employ this rare opportunity for writing letters 
E.remain seated in our rooms in the bungalow 
 
In the following the questions choose the word which has similar or same meaning of the given 
word. 
 
21. BRIEF 
 
A.Limited B. Small 
C.Little D. Short 
 
 
 
 
 
 



 
 
22. AUGUST 
 
A.Common B. Ridiculous 
C.Dignified D. Petty 
 
23. ALERT 
 
A.Energetic B. Observant 
C.Intelligent D. Watchful 
 
 
24. WARRIOR 
 
A.Soldier B. Sailor 
C.Pirate D. Spy 
 
25.ADVERSITY 
 
A.Failure B. Helplessness 
C.Misfortune D. Crisis 
 
In the following questions choose the word which is the exact OPPOSITE of the given words. 
 
26. ENORMOUS 
 
A.Soft B. Average 
C.Tiny D. Weak 
 
27. COMMISSIONED 
 
A.Started B. Closed 
C.Finished D. Terminated 
 
28. EXODUS 
 
A.Influx B. Home-coming 
C.Return D. Restoration 
 
29. RELINQUISH 
 
A.Abdicate B. Renounce 
C.Possess D. Deny 
 
30. QUIESCENT 
 
A.ACTIVE B. Dormant 
C.Weak D. Unconcerned 
 
 
 
 
 
 
 



 
 

 REASONING 
 
 
In each series, look for the degree and direction of change between the numbers. In other words, do the 
numbers increase or decrease, and by how much. 
 
 
1. Look at this series: 2, 1, (1/2), (1/4), ... What number should come next? 
 
A. (1/3)                                     B. (1/8) 
C. (2/8)                                     D. (1/16) 
 
2. Look at this series: 36, 34, 30, 28, 24, ... What number should come next? 
 
A. 20                                      B. 22 
C. 23                                      D. 26 
 
3. Look at this series: 53, 53, 40, 40, 27, 27, ... What number should come next? 
 
A. 12                                      B. 14 
C. 27                                      D. 53 
 
4. Look at this series: 31, 29, 24, 22, 17, ... What number should come next? 
 
A. 15                                      B. 14 
C. 13                                      D. 12 
 
5. Look at this series: 80, 10, 70, 15, 60, ... What number should come next? 
 
A. 20                                      B. 25 
C. 30                                      D. 50 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
In each question below is given a statement followed by two courses of action numbered I and II. 
You have to assume everything in the statement to be true and on the basis of the information 
given in the statement, decide which of the suggested courses of action logically follow(s) for 
pursuing. 
 

      Give answer 

 (A) If only I follows 

 (B) If only II follows 

 (C) If either I or II follows 

 (D) If neither I nor II follows 

 (E) If both I and II follow. 

 
 
6.Statement: A large number of people in ward X of the city are diagnosed to be suffering from a fatal 
malaria type. 
 
Courses of Action: 
 
The city municipal authority should take immediate steps to carry out extensive fumigation in ward X. 
 
The people in the area should be advised to take steps to avoid mosquito bites. 
 
A. Only I follows 
B. Only II follows 
C. Either I or II follows 
D. Neither I nor II follows 
E. Both I and II follow 
 
 
7. Statement: Severe drought is reported to have set in several parts of the country. 
 
Courses of Action: 
 
Government should immediately make arrangement for providing financial assistance to those affected. 
Food, water and fodder should immediately be sent to all these areas to save the people and cattle. 
A. Only I follows 
B. Only II follows 
C. Either I or II follows 
D. Neither I nor II follows 
E. Both I and II follow 
 
 
 
 
 
 
 
 
 
8. Statement: Since its launching in 1881, Vayudoot has so far accumulated losses amounting to Rs 153 
crore. 



 
Courses of Action: 
 
Vayudoot should be directed to reduce wasteful expenditure and to increase passenger fare. 
 
An amount of about Rs 300 crore should be provided to Vayudoot to make the airliner economically 
viable. 
 
A. Only I follows 
B. Only II follows 
C. Either I or II follows 
D. Neither I nor II follows 
E. Both I and II follow 
 
 
9. Statement: Exporters in the capital are alleging that commercial banks are violating a Reserve Bank of 
India directive to operate a post shipment export credit denominated in foreign currency at international 
rates from January this year. 
 
Courses of Action: 
 
The officers concerned in the commercial banks are to be suspended. 
 
The RBI should be asked to stop giving such directives to commercial banks. 
 
A. Only I follows 
B. Only II follows 
C. Either I or II follows 
D. Neither I nor II follows 
E. Both I and II follow 
 
10. Statement: A large number of people die every year due to drinking polluted water during the 
summer. 
 
Courses of Action: 
 
The government should make adequate arrangements to provide safe drinking water to all its citizens. 
The people should be educated about the dangers of drinking polluted water. 
A. Only I follows 
B. Only II follows 
C. Either I or II follows 
D. Neither I nor II follows 
E. Both I and II follow 
 
 
 
 
 
 
 
 
 
 
 



A good way to figure out the relationship in a given question is to make up a sentence that 
describes the relationship between the first two words. Then, try to use the same sentence to find 
out which of the answer choices completes the same relationship with the third word. 
 
 
11. Cup is to coffee as bowl is to 
 
A. dish                             B. soup 
C. spoon                               D. food 
 
12. Yard is to inch as quart is to 
 
A. gallon                              B. ounce 
C. milk                            D. liquid 
 
13. BINDING : BOOK 
 
A. criminal : gang                B. display : museum 
C. artist : carpenter   D. nail : hammer 
E. frame : picture  
 
14. PETAL : FLOWER 
 
A. salt : pepper                 B. tire : bicycle 
C. base : ball                 D. sandals : shoes 
E. puppy : dog  
 
15. COBBLER : SHOE 
 
A. jockey : horse                    B. contractor : building 
C. mason : stone                 D. cowboy : boot 
E. potter : paint 
 
 
Translate from an imaginary language into English. Then, look for the word elements that appear 
both on the list and in the answer choices. 
 
 
16. Here are some words translated from an artificial language. 
gemolinea means fair warning 
gerimitu means report card 
gilageri means weather report 
Which word could mean "fair weather"? 
 
A. gemogila                            B. gerigeme 
C. gemomitu                           D. gerimita 
 
 
 
 
 
 
 
 
 



17. Here are some words translated from an artificial language. 

slar means jump 
slary means jumping 
slarend means jumped 
Which word could mean "playing"? 
 

A. clargslarend                                 B. clargy 
C. ellaclarg                           D. slarmont 
 
18. Here are some words translated from an artificial language. 
jalkamofti means happy birthday 
moftihoze means birthday party 
mentogunn means goodness 
Which word could mean "happiness"? 
 
A. jalkagunn                           B. mentohoze 
C. moftihoze                           D. hozemento 
 
19. Here are some words translated from an artificial language. 
plekapaki means fruitcake 
pakishillen means cakewalk 
treftalan means buttercup 
Which word could mean "cupcake"? 
 
A. shillenalan                           B. treftpleka 
C. pakitreft                                  D. alanpaki 
 
20. Here are some words translated from an artificial language. 
malgauper means peach cobbler 
malgaport means peach juice 
moggagrop means apple jelly 
Which word could mean "apple juice"? 
 
A. moggaport                          B. malgaauper 
C. gropport                          D. moggagrop 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



In each of the following questions, three statements are given followed by four conclusions 
numbered I, II, III and TV. You have to take the given statements to be true even if they seem to be 
at variance with commonly known facts and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly known facts. 
 
21. Statements: All benches are desks. Some desks are roads. All roads are pillars. 
 
Conclusions: 
 
Some pillars are benches. 
Some pillars are desks. 
Some roads are benches. 
No pillar is bench. 
 
A. None follows 
B. Only either I or IV, and III follow 
C. Only either I or IV follows 
D. Only either I or IV, and II follow 
E. All follow 
 
 
22. Statements: Some dogs are rats. All rats are trees. Some trees are not dogs. 
 
Conclusions: 
 
Some trees are dogs. 
All dogs are trees. 
All rats are dogs. 
No tree is dog. 
 
A. None follows 
B. Only I follows 
C. Only I and II follow 
D. Only II and III follow 
E. All follow 
 
 
23. Statements: Some bricks are trees. All trees are pens. All pens are boats. 
 
Conclusions: 
 
Some boats are bricks. 
Some pens are bricks. 
Some trees are bricks. 
Some bricks are boats. 
A. Only I and II follow 
B. Only III and IV follow 
C. None follows 
D. All follow 
E. None of these 
 
 
 
 
24. Statements: All cups are glasses. Some glasses are bowls. No bowl is a plate. 
 



Conclusions: 
 
No cup is a plate. 
No glass is a plate. 
Some plates are bowls. 
Some cups are not glasses. 
 
A. None follows 
B. Only either I or III follows 
C. Only II and III follow 
D. Only III and IV follow 
E. None of these 
 
 
25. Statements: Some trains are roads. No road is jungle. All flowers are jungles. 
 
Conclusions: 
 
Some trains are flowers. 
Some trains are jungles. 
Some flowers are trains. 
No road is flower. 
 
A. None follows 
B. Only II follows 
C. Only III follows 
D. Only IV follows 
E. All follow 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



In each of the following questions, two statements numbered I and II are given. There may be 
cause and effect relationship between the two statements. These two statements may be the 
effect of the same cause or independent causes. These statements may be independent causes 
without having any relationship. Read both the statements in each question and mark your 
answer as 
 
 

 (A) If statement I is the cause and statement II is its effect; 

 (B) If statement II is the cause and statement I is its effect; 

 (C) If both the statements I and II are independent causes; 

 (D) If both the statements I and II are effects of independent causes; and 

 (E) If both the statements I and II are effects of some common cause. 

26. Statements: 
 
The prices of petrol and diesel in the domestic market have remained unchanged for the past few 
months. 
 
The crude oil prices in the international market have gone up substantially in the last few months. 
 
A. Statement I is the cause and statement II is its effect 
B. Statement II is the cause and statement I is its effect 
C. Both the statements I and II are independent causes 
D. Both the statements I and II are effects of independent causes 
E. Both the statements I and II are effects of some common cause 
 
27. Statements: 
 
The government has recently fixed the fees for professional courses offered by the unaided institutions 
which are much lower than the fees charged last year. 
 
The parents of the aspiring students launched a severe agitation last year protesting against the high fees 
charged by the unaided institutions. 
 
A. Statement I is the cause and statement II is its effect 
B. Statement II is the cause and statement I is its effect 
C. Both the statements I and II are independent causes 
D. Both the statements I and II are effects of independent causes 
E. Both the statements I and II are effects of some common cause 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



28. Statements: 
 
The Reserve Bank of India has recently put restrictions on few small banks in the country. 
 
The small banks in the private and co-operative sector in India are not in a position to withstand the 
competitions of the bigger in the public sector. 
 
A. Statement I is the cause and statement II is its effect 
B. Statement II is the cause and statement I is its effect 
C. Both the statements I and II are independent causes 
D. Both the statements I and II are effects of independent causes 
E. Both the statements I and II are effects of some common cause 
 
 
29. Statements: 
 
All the schools in the area had to be kept closed for most part of the week. 
 
Many parents have withdrawn their children from the local schools. 
 
A. Statement I is the cause and statement II is its effect 
B. Statement II is the cause and statement I is its effect 
C. Both the statements I and II are independent causes 
D. Both the statements I and II are effects of independent causes 
E. Both the statements I and II are effects of some common cause 
 
 
30. Statements: 
 
India has surpassed the value of tea exports this year over all the earlier years due to an increase in 
demand for quality tea in the European market. 
 
There is an increase in demand of coffee in the domestic market during the last two years. 
 
A. Statement I is the cause and statement II is its effect 
B. Statement II is the cause and statement I is its effect 
C. Both the statements I and II are independent causes 
D. Both the statements I and II are effects of independent causes 
E. Both the statements I and II are effects of some common cause 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

GENERAL KNOWLEDGE 

 

 

1. For which of the following disciplines is Nobel Prize awarded? 

 

A. Physics and Chemistry 

B. Physiology or Medicine 

C. Literature, Peace and Economics 

D. All of the above 

 

2. Hitler party which came into power in 1933 is known as 

 

A. Labour Party 

B. Nazi Party 

C. Ku-Klux-Klan 

D. Democratic Party 

 

3. Who was known as Iron man of India? 

 

A. Govind Ballabh Pant 

B. Jawaharlal Nehru 

C. Subhash Chandra Bose 

D. Sardar Vallabhbhai Patel 

 

4. Jude Felix is a famous Indian player in which of the fields? 

 

A. Volleyball          B. Tennis 

C. Football             D. Hockey 
 
5. Professor Amartya Sen is famous in which of the fields? 
 
A. Biochemistry              B. Electronics 
C. Economics              D. Geology 
 
6. Dr. Joon Lew of korea, the recipient of international Gandhi Award is known for his service in the? 
 
A. Eradication of leprosy 
B. Campaigning against AIDS 
C. Against Drugs 
D. Against child labour 
 
 
 
 
 
 
7. The name of Pierre Cardin is associated with which of the following fields? 
 



A. Painting 
B. Films 
C. Pop Music 
D. Fashion Designing 
 
8. Ricky Ponting is also known as what? 
 
A. The Rickster 
B. Ponts 
C. Ponter 
D. Punter 
 
9. Who has been awarded the first lifetime Achievement Award for his/her contribution in the field of 
Cinema? 
 
A. Ashok Kumar 
B. Hou Hsio-hsein 
C. Akiro Burosova 
D. Bernardo Burtolucci 
 
10. Which is the highest gallantry award in India? 
 
A. Param Vishishtat Seva Medal 
B. Param Vir Chakra 
C. Kirti Chakra 
D. Vir Chakra 
 
11. Who is the first Asian Winner of Nobel Prize? 
 
A. C. V. Raman 
B. Rajiv Gandhi 
C. Rabindranath Tagore 
D. Mother Teresa 
 
12. The gas usually filled in the electric bulb is 
 
A. nitrogen 
B. hydrogen 
C. carbon dioxide 
D. oxygen 
 
13. Which of the gas is not known as green house gas? 
 
A. Methane 
B. Nitrous oxide 
C. Carbon dioxide 
D. Hydrogen 
 
 
 
 
 
 
 
14. The hardest substance available on earth is 
 



A. Gold                                      B. Iron 
C. Diamond                           D. Platinum 
 
15. The average salinity of sea water is 
 
A. 3%                                        B. 3.5% 
C. 2.5%                                        D. 2% 
 
16. 'OS' computer abbreviation usually means ? 
 
A.  Order of Significance 
B.  Open Software 
C.  Operating System 
D.  Optical Sensor 
 
17. The purpose of choke in tube light is ? 
 
A.  To decrease the current 
B.  To increase the current 
C.  To decrease the voltage momentarily 
D.  To increase the voltage momentarily 
 
18. What's a web browser? 
 
A.  A kind of spider 
B.  A computer that stores WWW files 
C.  A person who likes to look at websites 
D.  A software program that allows you to access sites on the World Wide Web 
 
19. When is the World Population Day observed? 
 
A.  May 31 
B.  October 4 
C.  December 10 
D.  July 11 
 
20. The World Environment Day is celebrated on 
 
A.  April 7 
B.  June 5 
C.  August 6 
D.  June 16 
 
21. The power to decide an election petition is vested in the 
 
A.  Parliament 
B.  Supreme Court 
C.  High courts 
D.  Election Commission 
 
 
 
 
 

22. The present Lok Sabha is the 



 

A.  13th Lok Sabha 

B.  14th Lok Sabha 

C.  15th Lok Sabha 

D.  16th Lok Sabha 

 

23. The minimum age to qualify for election to the Lok Sabha is 

 

A.  25 years 

B.  21 years 

C.  18 years 

D.  35 years 

 

24. The largest and the oldest museum of India is located in the state/union territory of 

 

A.  New Delhi 

B.  West Bengal 

C.  Andhra Pradesh 

D.  Uttar Pradesh 

 

25. The shape of earth is 

 

A.  sphere 

B.  oblate spheroid 

C.  circular 

D.  spheroid 

 

26. The smallest country of the world is 

 

A.  Russia 

B.  Vatican city 

C.  Brazil 

D.  Canada 

 

27. The words 'Satyameva Jayate' inscribed below the base plate of the emblem of India are 

taken from 

 

A.  Rigveda 

B.  Satpath Brahmana 

C.  Mundak Upanishad 

D.  Ramayana 

 

 

 

 

 



28. 'Dandia' is a popular dance of 

 

A.  Punjab 

B.  Gujarat 

C.  Tamil Nadu 

D.  Maharashtra 

 

29. Who composed the famous song 'Sare Jahan SeAchha'? 

 

A.  Jaidev 

B.  Mohammad Iqbal 

C.  Bankim Chandra Chattopadhyay 

D.  Rabindranath Tagore 

 

30. Which city is known as 'Electronic City of India'? 

 

A.  Mumbai                     B.  Hyderabad 

C.  Guragon                     D.  Bangalore 
 


